giovedi 22 febbraio 2024 09:06

EX10: We will receive 10000 euro in one year and it is given a semiannual interest
rate of 0.05 in the exponential interest rule. The present value is:
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EX11: The amount of 700 euro will be disposable in 17 months. We wants to
determine its present value with the exponential rule by considering that: (1) during
the first 10 months it is given i=0.08.(2) during the last period it is applied the
monthly interest rate 2%

Graphically: ‘T 1|0 17 months
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EX11: The amount of 700 euro will be disposable in 17 months. We wants to
determine its present value with the exponential rule by considering that: (1) during
the first 10 months it is given i=0.08.(2) during the last period it is applied the
monthly interest rate 2%
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% natural logarithm



log(2)
ans =

0.6931

% decimal logarithm
log10(100)
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% absolute value

abs(5)
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